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1. | 𝑏2𝑐2 𝑏𝑐 𝑏 + 𝑐
𝑐2𝑎2 𝑐𝑎 𝑐 + 𝑎
𝑎2𝑏2 𝑎𝑏 𝑎 + 𝑏| is equal to

a) 1
𝑎𝑏𝑐(𝑎𝑏 + 𝑏𝑐 + 𝑐𝑎) b)𝑎𝑏 + 𝑏𝑐 + 𝑐𝑎 c) 0 d)𝑎 + 𝑏 + 𝑐

2. If 𝑎―1 + 𝑏―1 + 𝑐―1 = 0 such that |1 + 𝑎 1 1
1 1 + 𝑏 1
1 1 1 + 𝑐| = 𝜆 then value of 𝜆 is

a) 0 b)𝑎𝑏𝑐 c) ―𝑎𝑏𝑐 d)None of these

3. If 𝑎,𝑏,𝑐, are in A.P., then the value of

|𝑥 + 1 𝑥 + 2 𝑥 + 𝑎
𝑥 + 2 𝑥 + 3 𝑥 + 𝑏
𝑥 + 3 𝑥 + 4 𝑥 + 𝑐|, is

a) 3 b) ―3 c) 0 d)None of these

4. |𝑎 ― 𝑏 𝑏 ― 𝑐 𝑐 ― 𝑎
𝑥 ― 𝑦 𝑦 ― 𝓏 𝓏 ― 𝑥
𝑝 ― 𝑞 𝑝 ― 𝑟 𝑟 ― 𝑝| is equal to

a) 𝑎(𝑥 + 𝑦 + 𝓏) +𝑏(𝑝 + 𝑞 + 𝑟) +𝑐 b)0
c) 𝑎𝑏𝑐 + 𝑥𝑦𝓏 +𝑝𝑝𝑟 d)None of the above

5. | 𝑎 ― 𝑏 + 𝑐     –𝑎 ― 𝑏 + 𝑐         1
𝑎 + 𝑏 + 2𝑐    –𝑎 + 𝑏 + 2𝑐     2
3𝑐                   3𝑐                         3|  is

a) 6𝑎𝑏 b)𝑎𝑏 c) 12𝑎𝑏 d)2𝑎𝑏

6. In the determinant | 0 1 ―2
―1 0 3
2 ―3 0 |, the value of cofactor to its minor of the element ―3 is

a) ―1 b)0 c) 1 d)2

7. If 𝜔 is a cube root of unity, then for polynomial is

|𝑥 + 1 𝜔 𝜔2

𝜔 𝑥 + 𝜔2 1
𝜔2 1 𝑥 + 𝜔|

a) 1 b)𝜔 c) 𝜔2 d)0
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8. If |𝑥 + 𝑎 𝑏 𝑐
𝑎 𝑥 + 𝑏 𝑐
𝑎 𝑏 𝑥 + 𝑐| = 0, then 𝑥 equals

a) 𝑎 + 𝑏 + 𝑐 b) ―(𝑎 + 𝑏 + 𝑐) c) 0, 𝑎 + 𝑏 + 𝑐 d)0, ― (𝑎 + 𝑏 + 𝑐)

9. If 𝑎,𝑏,𝑐 are the sides of a ∆𝐴𝐵𝐶 and 𝐴,𝐵,𝐶 are respectively the angles opposite to them, then

| 𝑎2 𝑏 sin 𝐴 𝑐 sin 𝐴
𝑏 sin 𝐴 1 cos(𝐵 ― 𝐶)
𝑐 sin 𝐴 cos(𝐵 ― 𝐶) 1 | equals

a) sin 𝐴 ― sin 𝐵 sin 𝐶 b)𝑎𝑏𝑐 c) 1 d)0

10. If 𝐷𝑟 = | 2𝑟―1 3𝑟―1 4𝑟―1

𝑥 𝑦 𝓏
2𝑛 ― 1 (3𝑛 ― 1)/2 (4𝑛 ― 1)/3|, then the value of ∑𝑛

𝑟=1 𝐷𝑟 is equal to

a) 1 b) ―1 c) 0 d)None of these

11. If 𝐴,𝐵 and 𝐶 are the angles of a triangle and

| 1 1 1
1 + sin 𝐴 1 + sin 𝐵 sin 𝐶

sin 𝐴 + sin2 𝐴 sin 𝐵 + sin2 𝐵 sin 𝐶 + sin2 𝐶| = 0

then the triangle must be
a) Equilateral b) Isosceles c) Any triangle d)Right angled

12. Let 𝐴 = [ 1 sin 𝜃 1
― sin 𝜃 1 sin 𝜃

―1 ― sin 𝜃 1 ], where 0 ≤ 𝜃 < 2 𝜋. Then, which of the following is not 

correct?
a) Det (𝐴) = 0 b)Det (𝐴) ∈ ( ― ∞,0) c) Det (𝐴) ∈ [2,4] d)Det (𝐴) ∈ [ ― 2,∞)

13. | 1 5 π
log𝑒 𝑒 5 5

log10 10 5 𝑒 | is equal to

a) π b)𝑒 c) 1 d)0

14. If 𝑎2 + 𝑏2 + 𝑐2 = ―2 and

𝑓(𝑥) = | 1 + 𝑎2𝑥 (1 + 𝑏2)𝑥 (1 + 𝑐2)𝑥
(1 + 𝑎2)𝑥 (1 + 𝑏2𝑥) (1 + 𝑐2)𝑥
(1 + 𝑎2)𝑥 (1 + 𝑏2)𝑥 (1 + 𝑐2𝑥)|, then 𝑓(𝑥) is a polynomial of degree

a) 2 b)3 c) 0 d)1

15. If 𝑐 < 1 and the system of equations 𝑥 + 𝑦 ― 1 = 0, 2𝑥 ― 𝑦 ― 𝑐 = 0 and ―𝑏𝑥 + 3𝑏𝑦 ― 𝑐 = 0 is 
consistent, then the possible real values of 𝑏 are

a) 𝑏 ∈ ( ― 3, 3
4
) b)𝑏 ∈ ( ― 3

4
,4) c) 𝑏 ∈ ( ― 3

4
,3) d)None of these



16. The value of | 1 1 1
(2𝑥 + 2―𝑥)2 (3𝑥 + 3―𝑥)2 (5𝑥 + 5―𝑥)2

(2𝑥 ― 2―𝑥)2 (3𝑥 ― 3―𝑥)2 (5𝑥 ― 5―𝑥)2| is
a) 0 b)30𝑥 c) 30―𝑥 d)1

17. If 𝐴 is an invertible matrix, then det(𝐴―1) is equal to

a) det 𝑏(𝐴) b)
1

det(𝐴) c) 1 d)None of these

18. If 𝑎 ≠ 0,𝑏 ≠ 0,𝑐 ≠ 0, then |1 + 𝑎 1 1
1 1 + 𝑏 1
1 1 1 + 𝑐| is equal to

a) 𝑎𝑏𝑐 b)𝑎𝑏𝑐(1 + 1
𝑎

+ 1
𝑏

+ 1
𝑐
) c) 0 d)1 + 1

𝑎 + 1
𝑏 + 1

𝑐

19. If 𝑓(𝑥) = | 𝑎 ―1 0
𝑎𝑥 𝑎 ―1
𝑎𝑥2 𝑎𝑥 𝑎 |, then 𝑓(2𝑥) ―𝑓(𝑥) is equal to

a) 𝑎𝑥 b)𝑎𝑥(2𝑎 + 3𝑥) c) 𝑎𝑥(2 + 3𝑥) d)None of these

20. If | ―12     0         𝜆
0       2    ― 1
2       1       15 | = ―360, then the value of  𝜆 is

a) ―1 b) ―2 c) ―3 d)4


